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C p
imi, dönen çatal şeklinde bir  kol yardımıyla A noktasından B noktasına aktarılmaktadır. Kol sabit d
/dt = 0.5 rd/s açısal hızıyla döndüğüne göre 
 = 30
o
 konumunda kolun pime uyguladığı kuvveti bulunuz. Sürtünme kuvvetlerini ihmal ediniz. Silindirik yüzeyin yarıçapı 600 mm, g = 9.81 m/s
2
. 
)[image: ][image: ] (
   
)[image: ]
image4.png
PROBLEN (2-9). Sckil (2-P9) da goritlen ¢ikmalt kirisin kesit tesir-
lerini kesim yontemini kullanarak bulunuz ve divagramlaring giziniz.
Tekil yiikler /7~ IKN. 2 = 2kN. 2, = 1kN ve ditzgiin yayih yiikler
g 2KN/mL g, — TN molup, qubuk agikhign o= Tm dir
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Sekil (2-P9)
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2205 The aircraft A with radar detection equipment is
fiying horizontally at an altitude of 12 km and is
increasing its speed at the rate of 1.2 m/s each
cecond. Its radar locks onto an aircraft flying in
the same direction and in the same vertical plane
at an altitude of 18 km. If A has a speed of 1000
km/h at the instant when 8 = 30°, determine the
values of 7 and f at this same instant if B has a
constant speed of 1500 km/h.

Ans. 7 = —0637 m/s"

1.660(10*) rad/s”
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kg collar is released from rest at A and
slides down the inclined fixed rod in the vertical
plane. The coeflicient of kinetic friction i 0 4
Caleulate (@) the veloxity v of the collar as it

strikes the spring and (6) the maximum deflec.
tion x of the spring.
Ans fa)o

56m/s, (b5 = 989 mn
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